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1 (30cm)
0) ( 25cm)  Dys
( 2.0cm) Da2o
50ml 1
100ml 1
500ml 1
1 (150 )
1 (65 82cmHg)
2
1
2
2
500
1
( ) 12M
500mi( 99%, d=1.049)
( ) 500 (  98%)
( ) 500 (  98%)
( ) 250 (  99.5%)
1
(First Chemical Ltd) 500 (  45um 99.6%)
1 )
1 (400 )
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1.
2.

60rpm  120rpm

109 Do PE
(7 )
10g
20ml
100ml
CO, 100ml S
100
B = —z (mlfs)
5-4
10 D,% . 20 Dgp
PE
® )
3~7
CO»,
(Ca(OH),)
1 20 0. 8
CO»,
10
6M HClI 20ml 10 CaCOs;
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5-4.
() CO;

1.

2 40g 1 3 456 7

PE ( )

3. PE 10 Das 20 Dyo

4. PE

5.

6. 10g  20ml CO,

1
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7.

. 12 MCI

.12 NCI
30

HCI

30 ml

CO>
30 ml
k

5

6M 3 M

30

r=k[H*]™
12MM 3 M
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PE
20

80ml

D2o

6-7)

409

( 4

10g

(C)

20
3 6

6-8)

150ml

0g) 3456 7
PE

20g  8oml
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20g  8oml

D2o
3 6
10
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D2s 10 28.23g 4
2.5cm

D2, 10 14.879g 4
2.0cm

6-1. D2 Das
20 Dsg 10 D5 50ml

Dos 4x (25/2%x314x10 =196.25 cnt

D20 4x (20/2%2x314x20 =251.20 cn?

6-1.
(rpm) 60rpm 120rpm
(hr) 7 7
CO, (ml/s) 2.655 4.244

120rpm 120rpm

14



D2.5 10 Dz,o 20
(hr) 5 5
CO, (ml/s) 2.968 3.445
( yen? | 196.25 251.2
D2o D2o
(Laser)
( 6-3 6-4)
6-3.
3 4 5 6 7
(u m) 067 |041 45
6-4.
1 3 4 5 6 7 CaCOs
(um |52 2.4 183 |033 |019 |0.19 0.3
CO, -
(COgz(g)+Ca(OH)z(ag)> CaCOzg+H200) ¥
CO; ( 62)

6-2.CO-




CO>

(CaCO3) CO; ( 69
6-5 CO,
1 3 4 5 6 7 CaCOs3

CO: (ml/s) 0.005 0.364 1.267 2.171 3.445 4.237 4.244 3.447

(u m) 52 2.4 1.83 0.33 0.19 0.19 0.3

6-4

4.5

4 S —
= 35 /'/
E 1 ~
H
8 2.5 /
& 2 7
=015
SR —

(.5 J/_’,f//

D e 1 1 1 1 1 1 1

FHE | 2 3 4 5 6 7
B BRFRE (houry
6-3. CO,

16




6-6. CO,
(12M) (6M) (3M)
(hr) 5 5 5
() 5 30 60 5 30 60 5 30 60
CO, (mi/s) ) 104.17 | 112.04 | 121.95| 80.97 | 88.50| 98.26 | 64.00 | 70.42 | 80.97
CO;, CO, CO, =CO;,
I
1204 =k 121 —QD
12 m
885=k [5-] —@
12 m
?G.42zk[T] —3
L D m=0.34 PV=nRT
P=0.99atm T=30°¢c =>0.99x112.04 = 103=n=0.082 =303
=> n=4.46=103( /s 400ml  r=1.12 x102 M/s)
r=KJ"H k=4.81x 103 @ @ m=0.33
k=4.89+= 107 m=0.34 k=4.85x10°

r=4.85x 10" [H*]***

r=4.71x 10 [H"]%*®

6-7.

5

60

r=5.28x 103 [H"]°3

5 r=4.71x= 10 [H"]%*

30 |r=4.85x10°[H7**

6 0 r=5.28 =103 [H']*3
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k=10° |[log Kk|T ( 1/=n0

5 471 |-233 [27K8 [3597

30 |48 |-231 |30k3 |3.300

6 0 528 |-228 |33K3 |3003

(1/ F)=*10
3 00 3.30 3.60

- 2. 25

-2.R6

- 2.7

2.8 y = -0.0257x
-2.R29
| ogk?2 .3

-2.81

-2.832

-2.83

- 2.4

-2.835

6-5.
y =-0.0257x-2.261

— 0025722261 =slogkc-logh_ —E8 oo p=-2261

y * e T T i
Ea

_ HE = A R
=>A0005483  TIMERE - gnger = 00257
—>Fa=4.85 = 10 J/mol
1. ( 5
gom 0 .ud) CO2
2.[ 5 CO, 3.445(m|/s) - CO,

3.447(ml/s)] x 100%, =99%,
3. 98°% = 99%0= 97.02%,

18

0.33

261



6-9.

Do
(9) 14.87
(9) 14.61
©) 0.26
1.7 %
0.65 %

(

6-6)

6-6.

19
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6-10.

e
X1k

1 16.64 |48.9 3326.88 |9546.66 [9563.14

X
LD o MR

2 Xam= 1

)

RRHEE SN RGREE WS NEHESRER
ERHIE LGRS R RE TS

e VNSRRI

R (LNERIBED) X (RHIEBL/ N AR ED)

2.dum 5
_dx314x( 2y x X X

1.267ml/s

, o) ———= 1664
0.364mls 4@.1@(%;& x X ) X (1h)
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( 20)
0.88 CO; CO,
( ) ? CO CO;
10 CO; ( P10)
CO;
Fa=/5.2cmHg P +P002
N I B
liizm
2 0 Ph2o=17.54mmHg (1)
PV=nRT®? =>17.54/760x 0.1 = n= 0.082 = 293
n =9.6 =10 2)
P20+ Pcop=752+100/13.6
Pco2=741.81mmHg ©
(1)  (3)=> Puzol Pcoz = 100%, = 2.4, (4)
@ 4
()
6-1. 7 60rpm  CO;
2.655ml/s 120rpm  COs 4.244ml/s
CO;
()
2.5cm
2.0cm 6-1. (50ml) 20 Dago
(251.2cnt) 10 Dss (196.25 cnr) 6-2.
® ) D2.0
CO, (3.445m|/s) D2.5 CO,
(2.968ml/s)
CO;



COo

® 6-5.
CO, 6 7
( 4.237ml/s 4.244 ml/s) ( 0.19uy m 0.19
U m) 6 6-3.
6-4.CO, 6 ( 019 m 3
( 2.4 m)
()
6-6. 30 CO;
0.34 4.85x10°
r £85x10° [# 5 60
6-7. k
m (5)
6-6. CO,
(0.34)
()
B
K k = ae KT
( 6-5.) Ea=4.85x10°>Jmol
6-6. CO,
6-5. CO;
CO, CaCOs (  03um)
5 ( 0.33u m)
100%/o( 98%) 5
CO; CO, 99%,
(98%0) 97.02%,
97% O
6-9. 14.87g
14.61g

1.7%

0.65%,

23



(4 pm)
6-3.

(7)
6-8.

67
0. 88
6-5.

10'm

42.449 =60 (3

(8) ) ( 66).

( 6 7 ) ( 5
6 7
« )
6-7.
0 ( 4 B m)
6 ( 0.6mM)
@)
CO,
( 10°m)
( 63 64 )
( 0.6 0.41u m) 5
(107 10°m)
CO,
6-10.
(40q)
(10°m) 100
100 CO,
4.244 ml . 1002: 42.4s4ﬂ
7 CO, 4.244 ml/s)

2520 %

(Ka=1.8x10") (Ko=)
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CO,

CO,
CO,
97.02%,
0.65%,
30 r=4.85 = 10° [H*]***
5 60
Ea=4.85~103) / mo |
(107 10°m)
CcCO,

10'm (10°m)
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P15 1-3

( YP191 361

P. 97 4
P.15 2-1.2
P. 103 6
16
4
P.92
P. 712. 3 3
P101 52
9 http://japanonline.hypermart.net/new_page 300.htm
5
P.25
1 P.107
P35 2.2

http://www.bud.org. tw/answer/0203/020359.htm
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